
Benennung Bestell-Nr. Stück 

Ersatzteilliste P26C

Kombihammer

Ident-Nr.

Klemmring, komplett P26C-1K 088012

Schraubhandgriff P26C-1 125039

Einlegemutter M10 P26C-2 124001

Klemmring P26C-3 125012

Kreuzgriffschraube P26C-4 151004

Sechskantmutter M5 P26C-5 151003

Anschlagstange P26C-6 182001

Tülle P26C-7 125150

Manschette P26C-8 125200

Futterhülse P26C-9 125198

Sprengring RW18 P26C-10 253059

Haltering P26C-11 183636

Futterring P26C-12 183635

Anschlagring P26C-13 183530

Feder P26C-14 124263

Schaltfeder P26C-15 124132

Hülse P26C-16 125228

Kugel Ø7mm P26C-17 255110

Futter P26C-18 183634

Futter, komplett P26C-18k 089073

Zylinderschraube M5x20, beschichtet P26C-19 451228

Bohrkopf P26C-20 183623

Bohrkopfdichtung P26C-21 121026

Doppelabstreifer P26C-22 154052

Döpper P26C-23 183622

Bundgleitlager P26C-24 183624

O-Ring 23x5 P26C-25 254060

Quadring P26C-26 154003

Bohrspindel P26C-27 183616

Gleitlager P26C-28 183625

Sicherungsring P26C-29 153058

Bremsring P26C-30 183627

Kupplungsfeder P26C-31 183617

Haltestift P26C-32 224101

Nadelrolle 3x9,8 P26C-33 355068

Sicherheitskupplung P26C-34 183630

Schaltklaue P26C-35 183629

Sicherungsring P26C-36 153039

O-Ring 43x4 P26C-37 154139

Lagerring P26C-38 183626

Dämpfscheibe P26C-39 383410

Sprengring P26C-40 253046

Zylinder P26C-41 183618

Schläger P26C-42 183619

Kolbenring P26C-43 183242

Kolbenring P26C-44p 154115

12.01.2015 1/ 3



Benennung Bestell-Nr. Stück 

Ersatzteilliste P26C

Kombihammer

Ident-Nr.

Kolbenbolzen P26C-45 124011

Federring P26C-46 224059

Kolben P26C-47 125202

Kolben, komplett P26C-47k 083558

Pleuel P26C-48 125171

Nadelhülse P26C-49 155057

Zylindergehäuse P26C-50 182096

Flachsenkkopfschraube 4x27 P26C-51 651047

Zylinderrolle 5x10 P26C-52 155111

Schaltwelle P26C-53 183620

O-Ring 12x1,5 P26C-54 154014

Oberschale P26C-55 125197

Linsenschraube 3,5x20 P26C-56 451007

Kugel Ø4mm P26C-57 155047

Rastenfeder P26C-58 124078

Senkschraube M5x8 P26C-59 151090

Zylindergehäusedichtung P26C-60 124185

Kurbel P26C-61 183412

Rillenkugellager P26C-62 155037

Kurbelrad P26C-63 183413

Axialscheibe P26C-64 155100

Zylinderlager P26C-65 255043

Kegelritzelrad P26C-66 183411

Rillenkugellager P26C-67 155092

Getriebeplatte P26C-68 182136

Kupferdichtring M5 P26C-69 654000

Zylinderschraube M5x16 P26C-70 651026

V-Ring P26C-71 154098

O-Ring 18x2 P26C-72 154020

V-Ringscheibe P26C-73 183457

Lagergummi P26C-74 182025

Rillenkugellager P26C-75 155010

Sicherungsring P26C-76 153003

Anker P26C-77 181102

Rillenkugellager P26C-78 155000

Lagergummi P26C-79 182024

Linsenkopfschraube 4x48 P26C-80 251045

Luftleitflansch P26C-81 125159

Feldpaket, 230V P26C-82 181103

Motorgehäuse P26C-83 125196

Linsenschraube 3,5x30 P26C-84 251162

Umschalthebel P26C-85 125162

Linsensenkschraube M4x10 P26C-86 151072

Typenschild P26C-87 124260

Kohlehalter P26C-88 281062

Linsenkopfschraube 3x10 P26C-89 451046

12.01.2015 2/ 3



Benennung Bestell-Nr. Stück 

Ersatzteilliste P26C

Kombihammer

Ident-Nr.

Kohlebürste P26C-90 222153

Motordeckel P26C-91 125160

Linsenkopfschraube 4x14 P26C-92 651008

DUSS-Aufkleber P26C-93 227094

Kondensator, komplett P26C-94 152213

Dämpfer-Zylindergehäuse P26C-95 125066

Schalter P26C-96 152020

Schalterschutz P26C-97 125178

Dämpfer-Motorgehäuse P26C-98 125064

Schalterhandgriff P26C-99 125161

Abstandsbuchse P26C-100 482022

Linsenschraube 5x30 P26C-101 451060

Linsenkopfschraube 4x20 P26C-102 251050

Kabelschutzschlauch P26C-103 125009

Kabelklemme P26C-104 125004

Kabel mit Stecker P26C-105 152001

Anlaufscheibe* P26C-106 183669

12.01.2015 3/ 3




